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é convert dys to yrs wks and dy & iy

aaved

1 /* C program to convert days in to years, weeks
<stdio.h>
main()
dys, yrs, wks;

( )i
, &dys);

yrs = (dys / 265); // Ignoring leap year
wks (dys % <) [ S &
dys = dys - ((yrs * ) + (wks * 7));

i Yrs);
, WKs);
, dys);

Make public &3 u
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X Terminal

Enter days: 1343

~ess finished.
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<stdio.h>
<math.h>

main() {

X1, yvl, X2,
, &X1);
» &yT1);
. &x2);

&y2);

A5
(O K1

y2, dist;

);
),

),
),

i g (o

. ( r
dist = ((x2-x1)*(x2-x1))+((y2-y1)*(y2-y1));

),

, sqrt(dist));
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¢« el 5

X Terminal Il

Input x1:
Input y1:
Input x2:
Input y2:
Distance:

TikTok Lite
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P e fastestway Downlosd [RGELEYAE
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<stdio.h>
main() {
X, ¥, z, Peri, A;
(
( , &X);
tF(
( . &y).
tF(
( , &z);

(x < (y+2) && y < (x+2) && z < (y+Xx))
{

Peri= x+y+z,
F( . Peri);

Make public &3 'IE::'
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X Terminal

Input the first number: 12
Input the | number: 67

Input the third number: 54
Can't create a triangle!

ss finished.
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X Terminal

Input the first

Input the

Input the

Process finished.

number :
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¢« number of people in age grou| & ey

<stdio.h>
main()

age;
amt_baby=0, amt_school=0, amt_adult=0;
count=1;

(count<=

tf(
( ,&age);

(age>=0 && age<=5)
amt_baby++;
(age>=6 && age<=1/)
amt_school++;
amt_adult++;
count++;
,amt_baby);

,amt_schoo.
,amt_adult)

OO

l%] T, Make public &3 u
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é number of people in age grou i@ 5]

X Terminal Al

of person
of person
of person
of person
of person
of person
of person
of person
of person
of person
of person
Enter of person
Enter of persc
Enter age of perst
Enter age of person
Enter age of persc
Enter age of persc
Enter age of perso
Enter age of pers
Enter age of person
Baby age population: 6
School age population: 4
Adult age population: 10

Enter
Enter
Enter
Enter
Enter
Enter
Enter
Enter
Enter
Enter
Enter
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Process finished.

TikTok Lite

1 the fastest way. Download LR

@) J

Scanned with CamScanner




439PM @@ oo (oF TN FYa |

é ser to guess number with 7 al @ 5]

Saved

<sSTO10.Nn>
<stdlib.h>

< e.h>
main()
random_genNo= , humber;
stime;

1time;

ltime
stime

= (NULL);
= ( ed) 1ltime/2;
(stime);

//number to not be more than 1000
random_genNo= ()%

(1)

count+=1;

(

f( , &number);

(random_genNo==number)

(

"(random_genNo<number )
(
(random_genNo>number)

(

"(count==
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é - user to guess number with 7 @ 3]
Saved

X Terminal m

Guess a number from (0 to 1000):
Generated number is greater than - numbe

Guess a number from (0 to 1000):
Generated number is greater than - numbe

Guess a number from (0 to 1000):
Generated number 1s greater than the numbe

Guess a number from (0 to 1000): 1
Generated number is greater than the numbe

Guess a number from (0 to 1000): O
Generated number is greater than the numbe

Guess a number from (0 to 1000): 198
Generated number 1is greater than the numbe

Guess a number from (0 to 1000): 998
Generated number is less than the number vy«

OOPS!, Maximum limit of atttempt finished

Process finished.

TIKT ok Lite

INeTaster the merriel ame

and watch the coolest videos,
1 the fastest way. Download  [RLELEINE
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